

UDC 519.6

On a property of a convergent series

Zaza Gorgadze, Vakhtang Kvaratskhelia

Muskhelishvili Institute of Computational Mathematics of the Georgian Technical University,
4, Grigol Peradze str., Tbilisi, 0159, Georgia
zgg9494@gmail.com; v.kvaratskhelia@gtu.ge

Abstract

An elementary proof of a property of convergent series consisting of non-increasing non-negative real numbers is proposed.

Keywords: series, non-increasing sequence.

It is known that a series consisting of a non-increasing sequence of non-negative numbers has several properties. One of them is the statement as follows.

Proposition 1. Let (x_n) be a nonincreasing sequence of nonnegative numbers and assume that $\sum_{n=1}^{\infty} x_n < \infty$. Then the following is true $\lim_{n \rightarrow \infty} n \cdot x_n = 0$.

In this note, we consider one remarkable property of such series, which was proved in a more general case in [1, Theorem 2]. We give another, more elementary proof of this property.

Proposition 2. Let $0 < p_1 < p_2 < \infty$ and (x_n) be a nonincreasing sequence of nonnegative numbers. Then

$$\sum_{n=1}^{\infty} x_n^{p_1} < \infty \quad \text{if and only if} \quad \sum_{n=1}^{\infty} n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} < \infty.$$

We need the following elementary lemma.

Lemma. (i) For any positive integer k we have

$$\sum_{n=1}^k n^{-p_1/p_2} \leq \frac{p_2}{p_2 - p_1} k^{-p_1/p_2 + 1}. \quad (1)$$

(ii) For any nonincreasing sequence $\alpha_1, \alpha_2, \dots$ of nonnegative numbers the following inequalities hold:

$$\frac{1}{2} \sum_{i=m+1}^{\infty} 2^i \alpha_{2^i} \leq \sum_{i=2^m}^{\infty} \alpha_i \leq \sum_{i=m}^{\infty} 2^i \alpha_{2^i}, \quad \text{for any } m = 0, 1, \dots, \quad (2)$$

provided that all the series converge.

Proof. (i) (1) is easy consequence of the integral test.

(ii) Let us prove (2). It is clear that

$$\sum_{i=2^m}^{\infty} \alpha_i = \sum_{i=m}^{\infty} \sum_{j=2^i}^{2^{i+1}-1} \alpha_j \leq \sum_{i=m}^{\infty} 2^i \alpha_{2^i} \quad \text{for any } m = 0, 1, \dots$$

On the other hand, for any $m = 0, 1, \dots$ we have

$$\sum_{i=2^m}^{\infty} \alpha_i = \sum_{i=m}^{\infty} \sum_{j=2^i}^{2^{i+1}-1} \alpha_j \geq \sum_{i=m}^{\infty} 2^i \alpha_{2^{i+1}-1} \geq \frac{1}{2} \sum_{i=m}^{\infty} 2^{i+1} \alpha_{2^{i+1}} = \frac{1}{2} \sum_{i=m+1}^{\infty} 2^i \alpha_{2^i}.$$

Proof of Proposition 2. It is easy to see that, by assumption, the sequence of nonnegative numbers

$$\left(n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} \right)_{n=1}^{\infty}$$

is nonincreasing. Then, applying (2) we can obtain

$$\begin{aligned} \infty > \sum_{n=1}^{\infty} n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} &\geq \frac{1}{2} \sum_{n=1}^{\infty} 2^{n(1-p_1/p_2)} \left(\sum_{k=2^n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} \geq \frac{1}{2} \sum_{n=1}^{\infty} 2^n x_{2^{n+1}}^{p_1} \\ &\geq \frac{1}{2} \sum_{n=2}^{\infty} x_n^{p_1}. \end{aligned}$$

This proves the implication

$$\sum_{n=1}^{\infty} n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} < \infty \implies \sum_{n=1}^{\infty} x_n^{p_1} < \infty.$$

The proof of the inverse implication

$$\sum_{n=1}^{\infty} x_n^{p_1} < \infty \implies \sum_{n=1}^{\infty} n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} < \infty$$

is less obvious. From Lemma we get

$$\begin{aligned} \sum_{n=1}^{\infty} n^{-p_1/p_2} \left(\sum_{k=n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} &\leq \left(\sum_{k=1}^{\infty} x_k^{p_2} \right)^{p_1/p_2} + \sum_{n=1}^{\infty} 2^{n(1-p_1/p_2)} \left(\sum_{k=2^n}^{\infty} x_k^{p_2} \right)^{p_1/p_2} \leq \\ &\leq \sum_{k=1}^{\infty} x_k^{p_1} + 2x_2^{p_1} + 2^{2-p_1/p_2} \sum_{k=2}^{\infty} k^{p_1/p_2-1} x_k^{p_1} + 2 \sum_{n=2}^{\infty} 2^{n(1-p_1/p_2)} \left(\sum_{k=2^{n-1}}^{\infty} k^{p_1/p_2-1} x_k^{p_1} \right) \leq \\ &\leq (3 + 2^{2-p_1/p_2}) \sum_{k=1}^{\infty} x_k^{p_1} + 2^{3-p_1/p_2} \sum_{k=1}^{\infty} k^{p_1/p_2-1} x_k^{p_1} \left(\sum_{n=1}^k n^{-p_1/p_2} \right) \leq \\ &\leq (3 + 2^{2-p_1/p_2}) \sum_{k=1}^{\infty} x_k^{p_1} + 2^{3-p_1/p_2} \sum_{k=1}^{\infty} \frac{p_2}{p_2 - p_1} k^{-p_1/p_2+1} k^{p_1/p_2-1} x_k^{p_1} = \end{aligned}$$

$$= \left(2 + 2^{2-p_1/p_2} + \frac{p_2}{p_2 - p_1} 2^{3-p_1/p_2} \right) \sum_{k=1}^{\infty} x_k^{p_1} < \infty,$$

which completes the proof.

It should be mentioned that this assertion can be found in [2], but, unfortunately, the proof contains some misprints there.

If you take $p_1 = 1$ and $p_2 = 2$ then **Proposition 2** immediately implies the following

Corollary. *Let (x_n) be a nonincreasing sequence of nonnegative numbers. Then the series $\sum_{n=1}^{\infty} x_n$ converges if and only if the following condition is valid*

$$\sum_{n=1}^{\infty} n^{-1/2} \left(\sum_{k=n}^{\infty} x_k^2 \right)^{1/2} < \infty.$$

REFERENCES

- [1] Oloff R. Remarks on Lorentz sequence spaces. Beiträge Anal., 1981, **17**, p. 145–149.
- [2] Kvaratskhelia V. Unconditional Convergence of Functional Series in Problems of Probability Theory. Contemporary mathematics and its applications. Springer, Journal of Mathematical Sciences. 2014, **200**, 2, p. 143-254.

Article received: 2022-08-04